AEITOYPTIKA KENA TMHMATQN ENTA=H2Z

EIAIKOTHTA 2XOAEIO KENA
1 MEO2 1o /2 EXEAQPOY -2
2 MEO2 1o I/ NATKAAA -1
3 MEO2 20 /2 XANAITPAZ -1
4 ME02 20 /2 QPAIOKAITPOY -2
5 MEO2 30 /2 EXEAQPOY -1
6 MEO2 40 /2 YTAYPOYNOAHZ -1
7 MEO2 60 /2 EYOZIMOY -1
8 MEO2 r/z ATIOY FEQPTIOY -1
9 MEO2 /2 APEOOYZAZ -1
10 ME02 r/z MAAYTOY -1
11 MEO2 /2 PENTINAZ -1
12 MEO2 r/z $0X0Y -1
13 MEO2 1o /2 XANAZTPAZ -1
1 MEO3 1o /2 KOYDAAIQON -1
2 MEO3 1o I/ NATKAAA -2
3 MEO3 1o /2 MOAIXNHZ -1
4 MEO3 1o I/ XANAZTPAZ -1
5 MEO3 20 /2 XANAITPAZ -1
6 MEO3 20 I/ QPAIOKAZTPOY -1
7 MEO3 40 I'/Z MOAIXNHZ -1
8 MEO3 60 /2 EYOZMOY -1
9 MEO3 /Z ATI0Y FEQPTIOY -1
10 MEO3 r/z AZI0Y -1
11 MEO3 /2 APEOOYZAZ -1
12 MEO3 /2 MYTAONIAZ -1
13 MEO3 /2 0X0Y -2
1 MEO4 1o /2 EXEAQPOY -2
2 MeEo4 1o I/ NATKAAA -2
3 MEO4 20 /2 XANAITPAZ -1
4 MeEo4 20 I/ QPAIOKAZTPOY -1
5 MNeo4 /2 KAAINAOIQN -1
6 MEo4 /2 MAAYTOY -1
7 MNeo4 /2 PENTINAZ -1
8 MEo4 /2 20X0Y -2




